

**PROCEEDINGS OF THE DIRECTOR GENERAL OF ECONOMICS AND STATISTICS**

*Thiruvananthapuram,*

Sub: - Directorate of Economics & Statistics – The Provisional seniority list of personnel in the cadre of Taluk Statistical Officer/Statistical Officer/ Statistical Officer(Administration)/Senior Supervisor Computer as on 31/10/2018 – publishing of-

Read: - 1) This office order No. Gradation Cell-2898/2018/DES dated :12/03/2018

**ORDER NO: GRADATION CELL-27467/2018/DES, Dated: 16/11/2018**

The Provisional seniority list of personnel in the cadre of Taluk Statistical Officer/Statistical Officer/ Statistical Officer (Administration)/ Senior Supervisor Computer as on 31/10/2018 in the Department of Economics & Statistics is published hereunder. The controlling officers should circulate the list among the employees under their administrative jurisdiction, discrepancies, omissions etc, if any will be collected with supporting evidences and it should be verified with their service records and forwarded to this office on or before 15/12/2018.

The Provisional Seniority List is available in the Department website [www.ecostat.kerala.gov.in](http://www.ecostat.kerala.gov.in).

**Sd/-  
V.RAMACHANDRAN  
DIRECTOR GENERAL**

**TO**

The persons concerned (through controlling officers)

Copy to:

1. CA to Director General/Director (SDP)/Director (SDRT)/Additional Directors/Senior Administrative Officer.
2. Administrative Assistant.
3. All Deputy Directors, Economics & Statistics, District Offices.
4. The Deputy Director, Computer Division.
5. Concerned sections.
6. Stock File.

Forwarded /By order

  
**Statistical Officer  
(Administration)**

**PROVISIONAL SENIORITY LIST OF TALUK STATISTICAL OFFICER /STATISTICAL OFFICER/STATISTICAL OFFICER(ADMINISTRATION)/SENIOR SUPERVISOR COMPUTER AS ON 31/10/2018**

Sl.No.	Name of Employee	QIn.Genl.	QIn.Spl.	QIn.Addl.	Dt.of birth	Dt. of entry in service	Dt. Of entry in the present post	Dt.of probation	Order No.	Dt.of order	Remarks
1	Rajesh.R	SSLC	MOP&A/C(L)		6-12-1969	10-8-1989	1-2-2018	1-8-2018	EB(6)333/2018/DES	12-1-2018	Seniority fixed as per notification No.EA(2)24794/2017/DES(1), Dated 21/12/2017
2	Narayanan.K	BSc(Che)	MOP&A/C(L)		20-5-1963	6-2-1992	09/03/2017 FN	9-9-2017	EB(6)4002/2017/DES	14-2-2017	
3	Peter Kanakaraj.A	SSLC	MOP&A/C(L)		11-10-1965	3-2-1992	24-5-2017	24-11-2017	EB(6)4002/2017/DES	9-5-2017	
4	Antony.K.G	BSc	MOP&A/C(L)		5-3-1964	6-3-1992	22-5-2017	22-11-2017	EB(6)4002/2017/DES	9-5-2017	
5	Suresh Kumar.C	SSLC	MOP&A/C(L)	ITI(Electrician )	21-5-1964	9-3-1992	15-5-2017	15-11-2017	EB(6)4002/2017/DES	9-5-2017	
6	Jayasyam.K.P	BSc	MOP&A/C(L)		31-3-1966	6-3-1992	22-5-2017	22-11-2017	EB(6)4002/2017/DES	9-5-2017	
7	Rakesh.K.K	SSLC	MOP&A/C(L)		18-5-1964	15-4-1992	1-6-2017	1-12-2017	EB(6)4002/2017/DES	9-5-2017	
8	Mohisin.C.K	SSLC	MOP&A/C(L)		7-3-1962	9-3-1992	29-6-2017		EB(6)4002/2017/DES	6-6-2017	Rtd
9	Rajamma.S	SSLC	MOP		30-6-1962	11-9-1991	15-6-2017	15-12-2017	EB(6)4002/2017/DES	6-6-2017	Rtd
10	Roy Thomas	SSLC	MOP&A/C(L)		15-7-1963	8-4-1992	12-6-2017	12-12-2017	EB(6)4002/2017/DES	6-6-2017	
11	S.G. Sanjeev Kumar	SSLC	MOP&A/C(L)	Dip in Ele Engg	4-10-1967	26-3-1992	12-6-2017	12-12-2017	EB(6)4002/2017/DES	6-6-2017	
12	Anil Kumar.K	BSc(M)	MOP&A/C(L)		6-5-1964	23-6-1992	16-6-2017	16-12-2017	EB(6)4002/2017/DES	6-6-2017	
13	Suresh Kumar.R	BSc(M)	MOP&A/C(L)		20-8-1967	6-8-1992	9-6-2017		EB(6)4002/2017/DES	6-6-2017	
14	Rajan.K.T	BSc	MOP&A/C(L)	BEd	23-3-1965	6-7-1992	13-6-2017	13-12-2017	EB(6)4002/2017/DES	6-6-2017	

Sl.No.	Name of Employee	QIn.Genl.	QIn.Spl.	QIn.Addl.	Dt.of birth	Dt. of entry in service	Dt. Of entry in the present post	Dt.of probation	Order No.	Dt.of order	Remarks
15	Sebastian.Y	BCom	MOP & A/C(H)		24-5-1964	6-7-1992	14-6-2017	14-12-2017	EB(6)4002/2017/DES	6-6-2017	
16	Harikumar.P	BSc	MOP& A/C(L &H)		29-11-1964	6-8-1992	23-6-2017	23-12-2017	EB(6)4002/2017/DES	6-6-2017	
17	Priyadarsini.P.D	BSc(M)	MOP& A/C(L)	Certi.Comp	19-4-1973	18-9-1992	15-6-2017	15-12-2017	EB(6)4002/2017/DES	6-6-2017	
18	Jaisankar.K	BSc	MOP& A/C(L &H)		27-5-1965	3-9-1992	12-6-2017	12-12-2017	EB(6)4002/2017/DES	6-6-2017	
19	Devan.T	BCom	MOP		1-12-1962	14-10-1992	27-6-2017	27-12-2017	EB(6)4002/2017/DES	6-6-2017	
20	K. Ramachandran Pillai	PDC	MOP& A/C(L)		31-5-1966	4-1-1993	12-6-2017		EB(6)4002/2017/DES	6-6-2017	
21	Abdul Jabbar.P.M	BSc(Zool)	MOP		2-2-1966	18-1-1993	27-6-2017	27-12-2017	EB(6)4002/2017/DES	6-6-2017	
22	Sofy. B.V	BSc	MOP& A/C(H)	BEEd.	11-3-1966	19-5-1993	28-7-2017	28-1-2018	EB(6)4002/2017/DES	17-7-2017	
23	Sarojini. K.V.	SSLC	MOP& A/C(L)	D'man	15-5-1966	4-6-1993	7-8-2017		EB(6)4002/2017/DES	17-7-2017	
24	Santhosh Kumar. A	BA(Eco)	MOP& A/C(L)		31-5-1966	14-6-1993	1-8-2017	1-2-2018	EB(6)4002/2017/DES	17-7-2017	
25	Pushpakaran.P.R	BCom	MOP& A/C(L &H)		18-7-1966	23-7-1993	18-8-2017	18-2-2018	EB(6)4002/2017/DES	10-8-2017	
26	Sasikala.P	PDC	MOP& A/C(L)		19-5-1971	31-7-1993	11-8-2017	11-2-2018	EB(6)4002/2017/DES	10-8-2017	
27	Pradeep.S.Y	SSLC	MOP& A/C(L &H)		29-5-1969	2-8-1993	17/08/2017 AN	17-2-2018	EB(6)4002/2017/DES	10-8-2017	
28	Mohammed Jamal.K	BCom	MOP& A/C(L)		1-6-1971	2-8-1993	13-9-2017	13-3-2018	EB(6)4002/2017/DES	10-8-2017	
29	Baby.N.M	BSc(Maths)	MOP		12-7-1962	15-10-1993		2-3-2018	EB(6)4002/2017/DES	10-8-2017	Rtd
30	Beena.S.S	PDC	MOP		17-5-1966	8-11-1993	21-8-2017	21-2-2018	EB(6)4002/2017/DES	10-8-2017	
31	Gopalakrishnan Nair. V.V	MA (Mal)	MOP& A/C(H)		25-5-1966	22-10-1993	12-10-2017	12-4-2018	EB(6)4002/2017/DES	28-9-2017	
32	Radha Devi.P	MA(Eco)	MOP& A/C(H)		20-5-1970	13-10-1993	9-10-2017	9-4-2018	EB(6)4002/2017/DES	28-9-2017	
33	Rajamma.M.G	PDC	MOP& A/C(L &H)		19-3-1969	8-11-1993	20-10-2017	20-4-2018	EB(6)4002/2017/DES	28-9-2017	
34	Shaji. E.T.	PDC	MOP& A/C(L)		15-12-1969	30-10-1993	15-11-2017	15-5-2018	EB(6)4002/2017/DES	25-10-2017	

Sl.No.	Name of Employee	QIn.Genl.	QIn.Spl.	QIn.Addl.	Dt.of birth	Dt. of entry in service	Dt. Of entry in the present post	Dt.of probation	Order No.	Dt.of order	Remarks
35	Krishnadas.P	BSc(Math s)	MOP		24-5-1962	30-9-1993			EB(6)333/2018/DES	12-1-2018	Rtd
36	Madhu.A.K	BSc(Math s)	MOP& A/C(L)		20-10-1966	22-11-1993	17/01/2018 AN	17-7-2018	EB(6)333/2018/DES	12-1-2018	
37	Ajith.N.P	SSLC	MOP		18-7-1962	3-3-1986			EB(6)333/2018/DES	24-4-2018	Rtd
38	Somasundaran. C.K	SSLC	MOP& A/C(L)	D'sman Civil	25-5-1969	4-11-1993			EB(6)333/2018/DES	24-4-2018	
39	Babu.K.K	BA(Eco)	MOP		12-4-1965	1-12-1993			EB(6)333/2018/DES	24-4-2018	
40	Sulakha. A	BSc(Math s)	MOP& A/C(L)		20-5-1969	15-11-1993			EB(6)333/2018/DES	24-4-2018	
41	Babu George	SSLC	MOP		11-3-1964	4-11-1993			EB(6)333/2018/DES	24-4-2018	
42	Geethakumari. V.N	SSLC	MOP& A/C(L)	Dip in Civil Engg.	10-4-1965	19-11-1993			EB(6)333/2018/DES	24-4-2018	
43	Radhakrishnan. P	BSc	MOP& A/C(L)		27-5-1967	8-11-1993			EB(6)333/2018/DES	24-4-2018	
44	Indira Devi. K	BSc	MOP& A/C(L)		22-4-1962	12-11-1993			EB(6)333/2018/DES	24-4-2018	Rtd
45	Annapoorneswary A.M.	BSc(Math s)	MOP& A/C(L)		17-5-1965	12-11-1993			EB(6)333/2018/DES	24-4-2018	
46	Nazar.C.A.	BSc(Math s)	MOP	DCA, T/W E & M (L)	28-4-1964	14-12-1993			EB(6)333/2018/DES	24-4-2018	
47	Manoj Babu.M.T	SSLC	MOP& A/C(L)		15-5-1964	10-11-1993			EB(6)333/2018/DES	24-4-2018	
48	Noble Singh. R.T	BSc(Stat)	MOP& A/C(L)	BEd	25-1-1967	6-12-1993			EB(6)333/2018/DES	17-5-2018	
49	Sabu. R	BSc(Math s)	MOP& A/C(L)		30-5-1965	6-1-1994			EB(6)333/2018/DES	17-5-2018	
50	Usha.K.R	SSLC	MOP		29-12-1968	7-1-1994			EB(6)333/2018/DES	17-5-2018	
51	Dasaradhan.E	SSLC	MOP	JDC	20-3-1966	31-1-1994			EB(6)333/2018/DES	17-5-2018	
52	Biju. K	PDC	MOP		28-5-1970	3-2-1994			EB(6)333/2018/DES	17-5-2018	
53	Kumari Beena.B	SSLC	MOP& A/C(L)		10-5-1964	8-2-1994			EB(6)333/2018/DES	17-5-2018	
54	Nizarudeen. M	SSLC	MOP& A/C(L)		27-5-1966	21-2-1994			EB(6)333/2018/DES	17-5-2018	
55	Sabitha Thomas	BSc(Che)	MOP& A/C(L)		24-8-1965	16-2-1994			EB(6)333/2018/DES	17-5-2018	
56	Shajitha.M.A	BSc(Math s)	MOP& A/C(L)		31-3-1967	7-11-1994			EB(6)333/2018/DES	5-6-2018	

Sl.No.	Name of Employee	QIn.Genl.	QIn.Spl.	QIn.Addl.	Dt.of birth	Dt. of entry in service	Dt. Of entry in the present post	Dt.of probation	Order No.	Dt.of order	Remarks
57	Hareesh. S	BSc(Zool)	MOP& A/C(L)		31-5-1971	21-4-1994			EB(6)333/2018/DES	5-6-2018	
58	Subramannian.K	SSLC	MOP& A/C(L)		8-12-1963	16-5-1994			EB(6)333/2018/DES	5-6-2018	
59	Prema.M.V	PDC	MOP& A/C(L)	TTC	11-4-1970	5-5-1994			EB(6)333/2018/DES	13-7-2018	
60	Elizabeth Mareena Joseph	BSc	MOP& A/C(L)		22-5-1971	5-5-1994			EB(6)333/2018/DES	13-7-2018	
61	Jamal.K.M	PDC	MOP& A/C(L)		26-4-1972	9-5-1994			EB(6)333/2018/DES	13-7-2018	
62	George Jacob	BSc	MOP& A/C(H)		25-4-1972	31-5-1994			EB(6)333/2018/DES	13-7-2018	
63	Saijo Chalissery	BSc(Math s)	MOP& A/C(L &H)	PG Dip. in Journalism	30-5-1972	14-6-1994			EB(6)333/2018/DES	13-7-2018	
64	Sreekala S	SSLC	MOP& A/C(L)	D'sman Civil, T/W E & M (L)	28-5-1969	27-7-1994			EB(6)333/2018/DES	13-7-2018	
65	Zakkir Hussain M.A	BSc(Math s)	MOP & A/C(H)		30-5-1968	19-8-1994			EB(6)333/2018/DES	12-10-2018	
66	P.M.Salim	SSLC	MOP& A/C(L)	Dip.in Mech.Engg.	24-5-1964	8-9-1994			EB(6)333/2018/DES	12-10-2018	
67	S. Balakrishnan	BSc(Math s)	MOP& A/C(L)		15-3-1966	5-9-1994			EB(6)333/2018/DES	12-10-2018	
68	Vijayakumari. A	SSLC	MOP& A/C(L)		14-5-1965	23-9-1994			EB(6)333/2018/DES	12-10-2018	
69	Binu. B.K	BSc(Math s)	MOP& A/C(L)		31-5-1967	27-9-1994			EB(6)333/2018/DES	12-10-2018	
70	Radhamony. N.A	BSc(Math s)	MOP& A/C(H)	T/W E (L), ANM Tng	1-1-1966	28-9-1994			EB(6)333/2018/DES	12-10-2018	
71	Sajitha Beevi. A	BSc	MOP& A/C(L)	HDC	20-5-1963	31-10-1994			EB(6)333/2018/DES	12-10-2018	
72	Ajithkumar. R	SSLC	MOP& A/C(L)		31-5-1965	21-10-1994			EB(6)333/2018/DES	12-10-2018	

Sl.No.	Name of Employee	QIn.Genl.	QIn.Spl.	QIn.Addl.	Dt.of birth	Dt. of entry in service	Dt. Of entry in the present post	Dt.of probation	Order No.	Dt.of order	Remarks
73	Jagathamma. K.S	BSc	MOP& A/C(L)	T/W E(H),M(L)	22-2-1964	22-9-1994			EB(6)333/2018/DES	12-10-2018	
74	P.M.Zakir Hussain	PDC	MOP A/C (L)		27-5-1966	3-11-1994			EB(6)333/2018/DES	12-10-2018	
75	Baburajan. C.K	SSLC	MOP& A/C(L)		18-2-1964	17-10-1994			EB(6)333/2018/DES	12-10-2018	
76	Job Thomas	BSc(Math s)	MOP& A/C(H)	T/W E(H)	5-2-1968	11-11-1994			EB(6)333/2018/DES	12-10-2018	



**DIRECTOR GENERAL**